Proton, neutron,deutron in AuAu and ZrZr at 200GeV
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(Deuteron/Proton)_Zr/(Deuteron/Proton) Au in midrapidity at
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19.6GeV ,Proton
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19.6GeV Deuteron
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19.6GeV T vs beta

~ 0.18 ~ 0.18
b B ) -
) - ) -
~ 0.161 . T 016
| - -
0.141 0.14+
0.12 0.12—
- ) -
L ~P_Au — =-D_Au
- -P_Ru 1 = -D_Ru
01— +P_Zr $ 0.1— D_Zr i
- b —
0.08| 0.08{— U
0.0 _II|I||II||IIII|I|II|IIII|III||I|II|IIII|IIII|IIII 0_08_""|""|""|""|""|""|""|""|""|""
' 8.2 0.25 0.3 0.35 04 045 0.5 055 0.6 065 0.7 2 025 03 035 04 045 05 055 0.6 065 0.7
B, (GeVrc) B (GeVic)

yulou



T vs beta(19.6GeV and 200GeV the same bins)
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Deuteron/Proton vs rapidity(200GeV the same deltaR for D)
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